## BOOTSTRAPPING

We discuss nous bootstrapping methods for time series data, but we first introduce the bootstrap for the ind retting.

## IID BOOTSTRAP

Let X1,..., Xn be indep. r.v.s with cot F. Let  $T_n = t_n(X_{i_1,...,}X_n, F)$  be a function of  $X_{i_1,...,}X_n$  as well as of the edf F, so that it may involve some parameters which are functionals of F. Soppose it is of interest to estimate either some quantities beseel on moments of the sampling distribution of Tn, say ET or Vert or the edf of the sampling distribution  $G_n(x) = P(T_n \leq x)$ . Example: Consider Tn = tn (X1,..., Xn, F) = Jn(Xn-Jn)/Sn, where  $\overline{X}_n = \frac{1}{n} \sum_{i=1}^n S_n^2 = \frac{1}{n-1} \sum_{i=1}^n (X_i - \overline{X}_n)^2$ , and  $\mu = \int x dF(x)$ . In order to build a confidence interval for my we would like to estimate the cost Gn given by  $G_n(x) = P(\overline{vn}(\overline{x_n}-y)/s_n \leq x).$ Let  $G_{n,g} = \inf \{x : G(x) \ge 1 - 9\}$  be the upper 3 - quantile of  $T_n$ . Then we have  $P(G_{n,1-a_{2}} \leftarrow \frac{\sqrt{n}(\overline{x}_{n}-\mu)}{S_{n}} \leftarrow G_{n,a_{n}}) = 1-d$ which can be rearranged as  $P\left(\overline{X}_{n}-G_{n_{v}}G_{k_{z}}^{n}\overline{f_{n}}-f_{n_{v}}^{n}-f_{n_{v}}^{n}-G_{n_{v}}^{n}-G_{n_{v}}^{n}\overline{f_{n}}\right)=1-\alpha,$ which shows is that a (1-d)\*100% C.I. for on may be constructed as  $\left(\overline{X}_{n}-G_{n,0}H_{2},\overline{J}_{n},\overline{X}_{n}-G_{n,1-\alpha},\overline{J}_{n}\right).$ 

Bot to construct this interval we must know Gn.

1

The idea of the battering is the estimate the cell F  
with some ortimator 
$$\hat{F}_{n}$$
 based on  $X_{1,1,...,}X_{n}$  and then define  
 $T_{n}^{**} = t_{n} \left(X_{1,1,...,}^{**}X_{n}^{*}, \hat{F}_{n}\right)$ ,  
where  $X_{1,1,...,}^{**}X_{n}^{*}$  are independent raws with diviriation  $\hat{F}_{n}$ ,  
conditionally on  $X_{1,1,...,}X_{n}$  and  $Var_{n}T_{n}^{**} = Var[T_{n}^{**}|X_{1,...,}X_{n}]$ ,  
so that  $E_{n} = E[T_{n}^{**}|X_{1,...,}X_{n}]$  and  $Var_{n}T_{n}^{**} = Var[T_{n}^{**}|X_{1,...,}X_{n}]$ ,  
so that  $E_{n} = m! Var_{n} = condection and  $Var_{n}T_{n}^{**} = Var[T_{n}^{**}|X_{1,...,}X_{n}]$ ,  
so that  $E_{n} = m! Var_{n} = condection and  $Var_{n}T_{n}^{**} = Var[T_{n}^{**}|X_{1,...,}X_{n}]$ ,  
so that  $E_{n} = m! Var_{n} = condection and  $Var_{n}T_{n}^{**} = var[X_{1,...,}X_{n}]$ ,  
so that  $E_{n} = m! Var_{n} = condection is  $Var_{n}T_{n}^{**} = Var[T_{n}^{**}|X_{1,...,}X_{n}]$ ,  
where  $E_{n} = duarbas$  productively.  
Let  $C_{n}^{**}$  be the cell given by  
 $G_{n}^{**}(x) = F_{\mu}\left(T_{n}^{**} \leq x\right) = P\left(T_{n}^{**} \leq x|X_{1,...,}X_{n}\right)$ ,  
where  $E_{n} = duarbas$  productive of  $G_{n}$ .  
Obtaining a More-Carls approximation of  $G_{n}^{**}$ :  
In many bodytrop applications, we cannot set  $E_{n}T_{n}^{**}, Var_{n}^{*}$  for  $G_{n}^{**}$   
analytically. We therefore approximate then using a More Carls  
proceedus like the fillowing:  
Given  $X_{1,1...,}X_{n}$ , compute  $\hat{F}_{n}$ . Closes a large integer  $B$ .  
For  $b = 1,..., B$  due:  
 $Sumple X_{1,1...,}^{**,b} X_{n}^{*,b}$  on indep roles from  $\hat{F}_{n}$ .  
 $Compute T_{n}^{*,b} = t_{n}\left(X_{1,1}^{*,b}, \dots, X_{n}^{*,b}, \hat{F}_{n}\right)$ .  
Then set  $E_{n}T_{n}^{**} = \frac{1}{B}\sum_{n=1}^{S}T_{n}^{**,b}$  and  $Var_{n}T_{n}^{**} = \frac{1}{D}\sum_{n=1}^{S}(T_{n}^{**,b} - E_{n}T_{n}^{*,b})$   
as well as  $G_{n}^{**}(x) = \frac{1}{B}\sum_{n=1}^{S}T_{n}\left(T_{n}^{**,b} = x\right)$  due of all  $x$ .  
To relevive guardiles of  $G_{n}^{*}$  sort the value  $T_{n}^{*,1}, \dots, T_{n}^{*,b}$ .$$$$ 

$$G_{n,3} = T_{n}^{*,([B(1-3)])}$$
. 2

<u>Example (continued)</u>: Consider  $T_n = t_n(X_{1,...}, X_n, F) = \sqrt{n}(\overline{X_n} - m)/S_n$ . A notural choice of  $\hat{F}_n$  is the empirical distribution  $F_n$ , which has cdf given by  $F_n(x) = \frac{1}{n} \sum_{i=1}^n \mathbb{1} \left( X_i \leq x \right).$ The boostrap version of Tn is

$$T_{n}^{*} = t_{n} \left( X_{1,...,}^{*} X_{n}^{*}, F_{n} \right) = \sqrt{n} \left( \overline{X}_{n}^{*} - \overline{X}_{n} \right) / S_{n}^{*},$$

where

where  

$$\overline{X}_{n}^{*} = \frac{1}{n} \sum_{i=1}^{n} X_{i}^{*}, \quad S_{n}^{*} = \frac{1}{n-1} \sum_{i=1}^{n} \left( X_{i}^{*} - \overline{X}_{n}^{*} \right)^{2}, \quad \overline{X}_{n} = \int x \, dF_{n}(x) = \frac{1}{n} \sum_{i=1}^{n} X_{i}.$$
Then  $G_{n}^{*}$  is the edf given by

$$G_{n}^{4}(x) = P_{4}\left(\sqrt{n}\left(\sqrt{x}_{n}^{*}-\sqrt{x}_{n}\right)/s_{n}^{*}\leq x\right).$$

8. He 
$$(1-\alpha)^{4}/00\%$$
 C.I. for publicated on the bootstrop  
extrimetee of  $G_{n}$  would be given by  
 $\left(\overline{X}_{n} - G_{n,\alpha/2} \int_{\overline{x}_{n}}^{n} \int_{\overline{X}_{n}} - G_{n,1-\alpha/2} \int_{\overline{x}_{n}}^{n}\right)$ ,  
but we need to get Mante-Carlo expressimations to  $G_{n,\alpha/2}^{4}$  and  $G_{n,1-\alpha/2}^{4}$ .  
To obtain a Monte-Carlo approximation to  $G_{n,\beta}^{4}$  choose a large  
integer B, and for  $b = 1, ..., T$  do:

$$\mathsf{Compute} \quad \mathsf{T}_n^{\mathsf{*},\mathsf{b}} = \sqrt{n} \left( \overline{\mathsf{X}}_n^{\mathsf{*},\mathsf{b}} - \overline{\mathsf{X}}_n \right) / \mathsf{S}_n^{\mathsf{*},\mathsf{b}}.$$

We use as the upper 3-juentile of Gn the value The (1-8)) so the bootstrap (1-2)\*100 2 C.I. for in would be given by

$$\left(\overline{X}_{n}-T_{n}^{*}(L^{B(1-5)})\right)\frac{S_{n}}{\sqrt{n}}, \overline{X}_{n}-T_{n}^{*}(L^{B})\frac{S_{n}}{\sqrt{n}}$$

First results for the IID bootstry for the sample mean :

Suppose 
$$X_{i_1,...,} X_n$$
 are independent runs with edd F, mean  $y_n$ ,  
and variance  $\sigma^2 \leq \infty$ .  
Let  
 $T_n = t_n(X_{i_1,...,s} X_n, F) = J_n(\overline{X_n} - y_n)$ ,  
and suppose we are interested in estimating  
 $E T_n = E J_n(\overline{X_n} - y_n) = 0$   
 $V_{ar} T_n = V_{ar}(J_n(\overline{X_n} - y_n)) = \sigma^2$   
using the TID bootstrap.  
Let  $F_n$  be the empirical distribution function based on  $X_{i_1,...,s} X_n$   
 $T_{hen}$ 

$$T_n^{x} = t_n \left( X_{i_1 \dots j}^{x} X_n^{x}, F_n \right) = \int n \left( \overline{X}_n^{x} - \overline{X}_n \right),$$
  
Since  $\overline{X}_n = \int x \, dF_n(x) = \frac{1}{n} \sum_{i=1}^n X_i.$ 

We have

$$\begin{split} \mathbf{E}_{\mathbf{x}} \, \sqrt{n} \left( \overline{\mathbf{x}}_{n}^{\mathbf{x}} - \overline{\mathbf{x}}_{n} \right) &= \sqrt{n} \, \mathbf{E}_{\mathbf{x}} \, \frac{1}{n} \, \frac{\Gamma}{c_{1}} \left( \mathbf{x}_{i}^{\mathbf{x}} - \overline{\mathbf{x}}_{n} \right) \\ &= \sqrt{n} \, \mathbf{E}_{\mathbf{x}} \left( \mathbf{x}_{i}^{\mathbf{x}} - \overline{\mathbf{x}}_{n} \right) \\ &= \sqrt{n} \, \frac{1}{n} \, \frac{\Gamma}{c_{1}} \left( \mathbf{x}_{i} - \overline{\mathbf{x}}_{n} \right) \end{split}$$

= 0,

so the bootstrap estimate of ETn is exactly equal to ETn = 0. We also have

9

$$V_{ar_{4}} T_{n}^{4} = V_{ar_{4}} \left[ \sqrt{n} \left( \overline{X}_{n}^{4} - \overline{X}_{n} \right) \right]$$
$$= n \quad \text{Fr}_{4} \left( \overline{X}_{n}^{4} - \overline{X}_{n} \right)^{2}$$

$$= n \operatorname{F}_{4} \left( \frac{1}{n} \sum_{i=1}^{n} (X_{i}^{4} - \overline{X}_{n}) \right)^{2}$$

$$= \frac{1}{n} \operatorname{F}_{4} \left( \sum_{i=1}^{n} \sum_{j=1}^{n} (X_{i}^{4} - \overline{X}_{n}) (X_{j}^{4} - \overline{X}_{n}) \right)$$

$$= \frac{1}{n} \sum_{i=1}^{n} \operatorname{F}_{4} (X_{i}^{4} - \overline{X}_{n})^{2}$$

$$= \frac{1}{n} \sum_{i=1}^{n} (X_{i}^{4} - \overline{X}_{n})^{2}$$

$$= \frac{1}{n} \sum_{i=1}^{n} (X_{i} - \overline{X}_{n})^{2}$$

$$= \frac{1}{n} \sum_{i=1}^{n} (X_{i} - \overline{X}_{n})^{2}$$

We see that the boostrap estimator of Var  $T_n = \sigma^2$  is consistent.

\* R example \*

## TIME SERIES BOOTSTRAP APPROACHES

Suppose  $\{X_{L}, L \in \mathbb{Z}\}$  is a stationary time series such that  $X_{i,j,...,} X_{n}$  have joint distribution  $F_{n}$ . We will use  $F_{n}$  to represent the joint distribution as well as the joint distribution stunction. If we were to follow the same steps as in the IID case, given some guardity  $T_{n} = t_{n} (X_{i,...,} X_{n}, F_{n}),$ 

we would define the bootstrop version Tn of Tn as

$$T_{n}^{*} = t_{n} (X_{1,...,}^{*} X_{n}^{*}, \hat{F}_{n}),$$

5

where 
$$\widehat{F_n}$$
 is an extimator of the joint distribution  $\overline{F_n}$  and  $X_{1,...,}^{\mu} X_n^{\mu}$  are readon variables with joint distribution  $\widehat{F_n}$ .  
The problem with this is that it is difficult to get a good estimator  $\widehat{F_n}$  of  $\overline{F_n}$ .  
There are many bootstrapping schemes for time series data.  
We first consider block-bootstrap methods.

## BLOCK-BASED METHODS

Block-bootstrap methods are besed on the assumption that the joint distribution IFn of X<sub>1</sub>,...,X<sub>n</sub> can be approximated by the product of joint distributions of blocks of random variable among X<sub>1</sub>,...,X<sub>n</sub>. That is, if we break X<sub>1</sub>,...,X<sub>n</sub> into blocks of size L, assuming for the moment that n/2 is integer-valued for the sake of simplicity, then IFn may be written as

$$\begin{split} & F_{n}\left(x_{i_{1},...,x_{n}}\right) = P\left(X_{1} \in \chi_{i_{1},...,X_{n}} \leq \chi_{n}\right) \\ & \approx & \mathcal{T}_{n} P\left(X_{(j-1)} \oplus t_{1} \in \chi_{(j-1)} \oplus t_{1},...,X_{j} \in \chi_{j}\right) \\ & = & \mathcal{T}_{n} \\ & = & \mathcal{T}_{n} \\ & F_{n} \left(\chi_{(j-1)} \oplus t_{1},...,\chi_{j}\right), \end{split}$$

where  $F_{\Phi}(x_1,...,x_{\Phi}) = P(x_1 \in x_1,..., x_{\Phi} \in x_{\Phi})$ . Such an approximation to  $F_{\Phi}$  can be made under strict stationarity and if the dependence between r.v.s. decreases the further apart they are in time.

The blocks are constructed according to this diagram:

A block-bootstrap version of  $T_n = t_n (X_{i_1,...,} X_n, H_n)$  may be defined as  $T_n^* = t_n (X_{i_1,...,} X_n^*, \hat{H}_n^{\text{block}}),$ 

<u>[6</u>]

where 
$$\widehat{\mathbf{H}}_{n}^{\text{black}}$$
 is the distribution with edd given by  
 $\widehat{\mathbf{H}}_{n}^{\text{black}}(\mathbf{x}_{i,...,\mathbf{x}_{n}}) = \frac{\mathbf{u}_{n}^{\text{chack}}}{\prod_{j=1}^{n}} \widehat{\mathbf{H}}_{n}^{\text{c}}(\mathbf{x}_{(j-1)}\mathbf{z}\mathbf{t}_{j},...,\mathbf{x}_{js})$ ,  
where  $\widehat{\mathbf{H}}_{n}^{\text{c}}$  is an extinctor of  $\mathbf{H}_{n}^{\text{c}}$ .  
We consider two verys of extincting  $\mathbf{H}_{n}^{\text{c}}$ :  
Non-overlapping-black bootstrop (NBD):  
Dunke by  $\widehat{\mathbf{H}}_{n}^{\text{NBB}}$  the NBB estimate of  $\mathbf{H}_{n}^{\text{c}}$ . It has edf  
given by  
 $\widehat{\mathbf{H}}_{n}^{\text{NBB}}(\mathbf{x}_{(i,...,\mathbf{x}_{n})}) = \frac{\mathbf{u}_{n}^{\text{c}}\mathbf{t}}{\prod_{j=1}^{n}} \widehat{\mathbf{H}}_{n}^{\text{NBB}}(\mathbf{x}_{(j-1)\mathbf{t}+1},...,\mathbf{x}_{js})$ ,  
where  $\widehat{\mathbf{H}}_{n}^{\text{NBB}}$  is the distribution placing mass  $1/(n/\epsilon)$   
on each set the blacks  
 $(\mathbf{x}_{(j-1)\mathbf{t}+1},...,\mathbf{x}_{js})$ ,  $j=1,...,n/\epsilon$ .  
To generate a Monte-Cub draw  $\mathbf{x}_{1,...,\mathbf{x}_{n}^{\text{th}}}$  than  $\widehat{\mathbf{H}}_{n}^{\text{BBB}}$  sample  
 $(\mathbf{x}_{(j-1)\mathbf{t}+1},...,\mathbf{x}_{js})$ ,  $j=1,...,n/\epsilon$ .  
To generate a Monte-Cub draw  $\mathbf{x}_{1,...,\mathbf{x}_{n}^{\text{th}}}$  than  $\widehat{\mathbf{H}}_{n}^{\text{BBB}}$  sample  
 $(\mathbf{x}_{(j-1)\mathbf{t}+1},...,\mathbf{x}_{js})$ ,  $j=1,...,n/\epsilon$ .  
To generate a Monte-Cub draw  $\mathbf{x}_{1,...,\mathbf{x}_{n}^{\text{th}}}$  the blacks  
 $(\mathbf{x}_{(j-1)\mathbf{t}+1},...,\mathbf{x}_{js})$ ,  $j=1,...,n/\epsilon$ .  
To generate the sampled blacks to obtain  $\mathbf{x}_{1,...,\mathbf{x}_{n}^{\text{th}}}$ .  
Applied concatenate the sampled blacks to obtain  $\mathbf{x}_{1,...,\mathbf{x}_{n}^{\text{th}}}$ .  
Let  $\mathbf{T}_{n} = \mathbf{t}_{n}(\mathbf{x}_{1,...,\mathbf{x}_{n}^{\text{th}}}, \mathbf{T}_{n}) = \mathrm{Tr}(\mathbf{x}_{n} - \mathbf{E}\mathbf{x}_{n})$ , and suppose we with  
the estimate Var  $\mathbf{T}_{n}$  using the NBB.  
The NBB version of  $\mathbf{T}_{n}$  is  
 $\mathbf{T}_{n}^{\text{th}} = \mathbf{t}_{n}(\mathbf{x}_{1,...,\mathbf{x}_{n}^{\text{th}}}, \mathbf{t}_{n}^{\text{tB}}\mathbf{S}) = \mathrm{Tr}(\mathbf{x}_{n} - \mathbf{E}\mathbf{x}_{n}^{\text{th}})$ ,

where Fin is expection conditional on X1,..., Xn and based on the distribution II have a fin NB8

The NBB estimator of 
$$\mathbb{H}_{n}^{NBB}$$
. Ver  $\mathbb{T}_{n}$  is  $\operatorname{Ver}_{\mathcal{X}} \mathbb{T}_{n}^{\mathcal{X}}$ , where  $\operatorname{Ver}_{\mathcal{X}}$   
operates eccording to  $\mathbb{H}_{n}^{\mathcal{N}}$ .  
To find  $\operatorname{Ver}_{\mathcal{X}} \mathbb{T}_{n}^{\mathcal{X}}$ , we first find  $\mathbb{E}_{\mathcal{X}} \mathbb{X}_{n}^{\mathcal{X}}$ . We have  
 $\mathbb{E}_{\mathcal{X}} \mathbb{X}_{n}^{\mathcal{X}} = \mathbb{E}_{\mathcal{X}} \frac{1}{n} \sum_{i=1}^{n} \mathbb{X}_{i}^{\mathcal{X}}$   
 $= \frac{1}{n} \mathbb{E}_{\mathcal{Y}} \sum_{j=1}^{n/a} (\mathbb{X}_{(j-i)\mathcal{X}^{\mathcal{X}}}^{\mathcal{X}} + \dots + \mathbb{X}_{j,\mathbf{x}}^{\mathcal{X}})$   
 $= \frac{1}{n} \mathbb{E}_{\mathcal{Y}} \left( \mathbb{X}_{i}^{\mathcal{X}} + \dots + \mathbb{X}_{j,\mathbf{x}}^{\mathcal{X}} \right)$   
 $= \frac{1}{n} \mathbb{E}_{\mathcal{X}} \left( \mathbb{X}_{i}^{\mathcal{X}} + \dots + \mathbb{X}_{j,\mathbf{x}}^{\mathcal{X}} \right)$   
 $= \frac{1}{n} \mathbb{E}_{\mathcal{X}} (\mathbb{X}_{i}^{\mathcal{X}} + \dots + \mathbb{X}_{j,\mathbf{x}}^{\mathcal{X}})$   
 $= \frac{1}{n} \sum_{i=1}^{n} \mathbb{X}_{i}$   
 $= \mathbb{X}_{n}$ .

Now 
$$\operatorname{Var}_{y} \operatorname{T}_{n}^{A}$$
 is given by  
 $\operatorname{Var}_{y} \left[ \operatorname{Un} \left( \overline{X}_{n}^{A} - \overline{X}_{n} \right) \right] = n \operatorname{E}_{x} \left( \overline{X}_{n}^{A} - \overline{X}_{n} \right)^{2}$   
 $= n \operatorname{E}_{y} \left[ \frac{1}{n} \frac{\tilde{\Sigma}}{i_{z_{1}}} \left( X_{i}^{A} - \overline{X}_{n} \right)^{2} \right]^{2}$   
by indep of blocks and  
 $i_{y} \frac{1}{3} \operatorname{E} \left( X_{i}^{A} + \cdots + X_{y}^{A} \right) = \overline{X}_{n}$   
 $= \frac{1}{n} \operatorname{E}_{x} \left( \sum_{j=1}^{n/a} \left[ \left( X_{(j-1)a+1}^{A} - \overline{X}_{n} \right) + \cdots + \left( X_{ja}^{A} - \overline{X}_{n} \right) \right] \right)^{2}$   
 $= \frac{1}{n} \operatorname{E}_{x} \left[ \left( X_{(j-1)a+1}^{A} - \overline{X}_{n} \right) + \cdots + \left( X_{ja}^{A} - \overline{X}_{n} \right) \right]^{2}$   
 $= \frac{1}{g} \operatorname{E}_{x} \left[ \left( X_{i}^{A} - \overline{X}_{n} \right) + \cdots + \left( X_{ja}^{A} - \overline{X}_{n} \right) \right]^{2}$   
 $= \frac{1}{g} \operatorname{E}_{x} \left[ \left( X_{i-1}^{A} - \overline{X}_{n} \right) + \cdots + \left( X_{ja}^{A} - \overline{X}_{n} \right) \right]^{2}$ 

$$= \int_{N/2}^{N/2} \sum_{j=1}^{0} \int_{X_{j}}^{0} \sum_{z=1}^{0} (X_{(j-1)}g_{+}r - \overline{X}_{n})(X_{(j-1)}g_{+}s - \overline{X}_{n})$$

$$= \int_{N/2}^{N/2} \sum_{j=1}^{1} \int_{z=1}^{1} \sum_{z=1}^{1} \sum_{j=1}^{1} (X_{k+1}h_{1} - \overline{X}_{n})(X_{k} - \overline{X}_{n})$$

$$= \int_{N/2}^{N/2} \int_{N/2}^{N/2} (h) \int_{x_{k}}^{N/2} \int_{x_{k}}^{$$

where

$$\frac{1}{2} \sum_{n,q} \frac{1}{2} \sum_{$$

The function  $\overline{O}_{n,2}(h)$  is basically the mean of sample autocovariance functions computed on the blocks  $(X_{(j-1)}, +1, ..., X_{j,2})$ , j=1, ..., n/k.

Under some mild conditions on the dependence structure of the time series, we have

$$V_{ar} T_n \rightarrow \Sigma_{h=-\infty}^{\infty} \mathcal{J}(h) \quad as \quad n \rightarrow \infty,$$

where olid is the acut of {Xt, tEZ}, as well as

provided & => or and e/n => o as n= or.

Moving- block bootstrap (MBB):

Dente by 
$$\widehat{H}_{n}^{MBB}$$
 the MBB oblinder of  $\overline{H}_{n}$ . It has edf  
given by
$$\widehat{H}_{n}^{MBD}(x_{1,...,x_{n}}) = \frac{n!4}{n!} \widehat{H}_{B}^{MBD}(x_{(1-)b+1},...,x_{j+}),$$
where  $\widehat{H}_{p}^{MBD}$  is the distribution placing waves  $1/(w-2+v)$   
or each of the blocks
$$(X_{3,...,y}, X_{3+p-1}), \quad j=1,...,y-n-2+1.$$
To represent  $n/2$  times from the blocks
$$(X_{3,...,y}, X_{3+p-1}), \quad j=1,...,y-2+1.$$
To represent  $n/2$  times from the blocks
$$(X_{3,...,y}, X_{3+p-1}), \quad j=1,...,y-2+1.$$
To concatents the sampled blocks the obtain  $X_{1,...,y}^{*}X_{n}^{*}$ .  
Appliedium of the MBD to the mean:  
Let  $T_{n} = t_{n}(X_{3,...,X_{n}}, \overline{H}_{n}) = \sqrt{m}(\overline{X}_{n} - \overline{E}\overline{X}_{n}), \text{ and suppose we with to estimate  $V_{n} T_{n}$  with  $T_{n} = t_{n}(X_{3,...,X_{n}}, \overline{T}_{n}) = \sqrt{m}(\overline{X}_{n} - \overline{E}\overline{X}_{n}), \text{ and suppose we with to estimate  $V_{n} T_{n}$  with  $T_{n} = t_{n}(X_{3,...,X_{n}}, \overline{T}_{n}) = \sqrt{m}(\overline{X}_{n} - \overline{E}\overline{X}_{n}), \text{ and suppose we with to estimate  $V_{n} T_{n}$  with  $T_{n} = t_{n}(X_{3,...,X_{n}}, \overline{T}_{n}) = \sqrt{m}(\overline{X}_{n} - \overline{E}\overline{X}_{n}), \text{ and suppose we with to estimate  $V_{n} T_{n}$  with  $\overline{T}_{n} = \overline{T}_{n}(\overline{X}_{n} - \overline{E}\overline{X}_{n}), \text{ and suppose we with to estimate  $\overline{T}_{n} = t_{n}(X_{3,...,X_{n}}, \overline{T}_{n}) = \sqrt{m}(\overline{X}_{n} - \overline{E}\overline{X}_{n}), \text{ and suppose we with to estimate  $\overline{T}_{n} = t_{n}(\overline{X}_{3,...,X_{n}}, \overline{T}_{n}) = \sqrt{m}(\overline{X}_{n} - \overline{E}\overline{X}_{n}), \text{ where } \overline{T}_{n} = t_{n}(\overline{X}_{3,...,X_{n}}, \overline{T}_{n}) = \overline{T}_{n}(\overline{X}_{n} - \overline{E}\overline{X}_{n}), \text{ where } \overline{T}_{n} = t_{n}(\overline{X}_{3,...,X_{n}}, \overline{T}_{n}) = \overline{T}_{n}(\overline{X}_{n} - \overline{E}\overline{X}_{n}), \text{ where } \overline{T}_{n} = t_{n}(\overline{X}_{3,...,X_{n}}, \overline{T}_{n}) = \overline{T}_{n}(\overline{X}_{n} - \overline{E}\overline{X}_{n}), \text{ where } \overline{T}_{n} = t_{n}(\overline{X}_{3,...,X_{n}}, \overline{T}_{n}) = \overline{T}_{n}(\overline{X}_{n} - \overline{T}_{n}, \overline{X}_{n}), \text{ where } \overline{T}_{n}$$$$$$$ 

To find 
$$\sqrt{u_{xx}} = \frac{1}{u_{x}}$$
, we first find  $E_{yx} \overline{\chi}_{n}^{x}$ . We have  
 $E_{xx} \overline{\chi}_{n}^{x} = E_{xx} \frac{1}{n} \frac{z}{z_{x}} \chi_{n}^{x}$   
 $= \frac{1}{n} E_{yy} \frac{z}{z_{x}} (\chi_{(z-1)g+1}^{x} + \dots + \chi_{(x-1)}^{x})$   
 $= \frac{1}{n} E_{yy} (\chi_{(z-1)g+1}^{x} + \dots + \chi_{(x-1)}^{x})$   
 $= \frac{1}{s} \frac{1}{u_{x}} \frac{z}{z_{x}} (\chi_{(z-1)g+1}^{x} + \dots + \chi_{(x-1)}^{x})$   
 $= \frac{1}{s} \frac{1}{u_{x}} \sum_{n=s+1}^{n-s+1} \left[ \frac{z}{z} \chi_{s}^{x} + \sum_{j=s}^{n-s+1} \chi_{j} + \sum_{j=n-s+s}^{n-s+1} (n-j+1) \chi_{j} \right]$   
 $= \frac{1}{u_{x}} \sum_{n-s+1} \left[ \frac{z}{z} \chi_{s}^{x} + \sum_{j=s}^{n-s+1} \chi_{j} + \sum_{j=n-s+s}^{n-s+1} (n-j+1) \chi_{j} \right]$   
 $= \frac{1}{u_{x}} \sum_{n-s+1} \left[ \frac{z}{z} \chi_{s}^{x} \chi_{s} + \sum_{j=s}^{n-s+1} \chi_{j} + \sum_{j=n-s+s}^{n-s+1} (n-j+1) \chi_{j} \right]$   
 $= \frac{1}{u_{x}} \sum_{n-s+1} \left[ \frac{z}{z} \chi_{s}^{x} + \sum_{j=s}^{n-s+1} \chi_{j} + \sum_{j=n-s+s}^{n-s+1} (n-j+1) \chi_{j} \right]$   
 $= \frac{1}{u_{x}} \sum_{n-s+1} \left[ \frac{z}{z} \chi_{s}^{x} \chi_{s} + \sum_{j=n-s+s}^{n-s+1} \chi_{s} + \sum_{j=n-s+s}^{n-s+1} \chi_{s} \right]$   
 $u_{x}$   
 $= \frac{1}{u_{x}} \sum_{n-s}^{n-s+1} \left[ \chi_{s}^{s} \chi_{s+1} + \sum_{j=s}^{n-s+1} \chi_{s} + \sum_{j=n-s+s}^{n-s+1} \chi_$ 

$$= n \ E_{w} \left( \overline{X}_{n}^{w} - \overline{X}_{n,v}^{MED} \right)^{2}$$

$$= n \ E_{w} \left[ \frac{1}{n} \sum_{i=1}^{n} \left( X_{i}^{w} - \overline{X}_{n,v}^{MED} \right) \right]^{2}$$

$$= n \ E_{w} \left[ \frac{1}{n} \sum_{i=1}^{n} \left( X_{i}^{w} - \overline{X}_{n,v}^{MED} \right) \right]^{2}$$

$$= \frac{1}{n} \ E_{w} \left[ \frac{\sqrt{n}}{2} \sum_{j=1}^{n} \left( \left( X_{(j-1)k+1}^{w} - \overline{X}_{n,v}^{MED} \right) + \dots + \left( X_{j,v}^{w} - \overline{X}_{n,v}^{MED} \right) \right) \right]^{2}$$

$$= \frac{1}{n} \ E_{w} \left[ \left( X_{i}^{w} - \overline{X}_{n,v}^{MED} \right) + \dots + \left( X_{j,v}^{w} - \overline{X}_{n,v}^{MED} \right) \right]^{2}$$

$$= \frac{1}{n} \ E_{w} \left[ \left( X_{i}^{w} - \overline{X}_{n,v}^{MED} \right) + \dots + \left( X_{j,v}^{w} - \overline{X}_{v,v}^{MED} \right) \right]^{2}$$

$$= \frac{1}{n} \ E_{w} \left[ \left( X_{i}^{w} - \overline{X}_{n,v}^{MED} \right) + \dots + \left( X_{j,v}^{w} - \overline{X}_{v,v}^{MED} \right) \right]^{2}$$

$$= \frac{1}{n} \ E_{w} \left[ \left( X_{i}^{w} - \overline{X}_{n,v}^{MED} \right) + \dots + \left( X_{j,v}^{w} - \overline{X}_{v,v}^{MED} \right) \right]^{2}$$

$$= \frac{1}{n} \ E_{w} \left[ \left( X_{i}^{w} - \overline{X}_{n,v}^{MED} \right) + \dots + \left( X_{j,v}^{w} - \overline{X}_{v,v}^{MED} \right) \right]^{2}$$

$$= \frac{1}{n} \ E_{w} \left[ \left( X_{i}^{w} - \overline{X}_{n,v}^{MED} \right) + \dots + \left( X_{j,v}^{w} - \overline{X}_{v,v}^{MED} \right) \right]^{2}$$

$$= \frac{1}{n} \ E_{w} \left[ \left( X_{i}^{w} - \overline{X}_{n,v}^{MED} \right) + \dots + \left( X_{j,v}^{w} - \overline{X}_{v,v}^{MED} \right) \right]^{2}$$

$$= \frac{1}{n} \ E_{w} \left[ \left( X_{i}^{w} - \overline{X}_{n,v}^{MED} \right) + \dots + \left( X_{i,v}^{w} - \overline{X}_{v,v}^{MED} \right) \right]^{2}$$

$$= \frac{1}{n} \ E_{w} \left[ \left( X_{i,v}^{w} - \overline{X}_{i,v}^{MED} \right) + \dots + \left( X_{i,v}^{w} - \overline{X}_{v,v}^{MED} \right) \right]^{2}$$

$$= \frac{1}{n} \ E_{w} \left[ \left( X_{i,v}^{w} - \overline{X}_{i,v}^{MED} \right) + \dots + \left( X_{i,v}^{w} - \overline{X}_{v,v}^{MED} \right) \right]^{2}$$

$$= \frac{1}{n} \ E_{w} \left[ \left( X_{i,v}^{w} - \overline{X}_{i,v}^{MED} \right) + \dots + \left( X_{i,v}^{w} - \overline{X}_{v,v}^{MED} \right) \right]^{2}$$

$$= \frac{1}{n} \ E_{w} \left[ \left( X_{i,v}^{w} - \overline{X}_{i,v}^{WED} \right) + \dots + \left( X_{i,v}^{w} - \overline{X}_{v,v}^{WED} \right) \right]^{2}$$

$$= \frac{1}{n} \ E_{w} \left[ \left( X_{i,v}^{w} - \overline{X}_{v,v}^{WED} \right) + \dots + \left( X_{i,v}^{w} - \overline{X}_{v,v}^{WED} \right) \right]^{2}$$

$$= \frac{1}{n} \ E_{w} \left[ \left( X_{i,v}^{w} - \overline{X}_{i,v}^{WED} \right] + \dots + \left( X_{i,v}^{w} - \overline{X}_{v,v}^{WED} \right) \right]^{2}$$

$$= \frac{1}{n} \ E_{w} \left[ \left( X_{i,v}^{w} - \overline{X}_{v,v}^{WED} \right] + \dots + \left( X_{i,v}^{w} - \overline{X}_{v,v}^{WED} \right) \right]^{2}$$

$$= \frac{1}{n} \ E_{w} \left[ \left( X_{i,v}^{w} - \overline{X}_{v,v}^{WE$$

where

$$\sum_{n=0}^{n-R+1} \sum_{j=1}^{j+Q-1-|h|} \sum_{t=j}^{n-R+1} \sum_{t=j}^{j+Q-1-|h|} \left( X_{t+1h} - \overline{X}_{n,Q}^{nBB} \right) \left( X_{t} - \overline{X}_{n,Q}^{nBB} \right), \quad h = -(Q-1), \dots, Q-1$$

The function 
$$t_{n,s}$$
 is essentially the mean of Rample autocovariance functions computed on the blacks  $(X_{j_1,...,j_k}X_{j+s-1})$ ,  $j=1,...,n-s+1$ .

Under some mild conditions on the dependence structure of the time series, we have

$$V_{ar} T_n \rightarrow \Sigma_{h=-\infty}^{\infty} \mathcal{J}(h) \quad as \quad n \rightarrow \infty,$$

where d() is the acut of {Xt, tEZ}, as well as

provided & = o and e/n = o as n= o.